DDCE-lIS-CBCS —

MSW (B. C. Mgt.)
R&B
2017
Time : As in Programme
Full Marks : 70

The figures in the fight-hand margin indicate marks.

Answer from all the Sections as directed.

Section - A
Answer any three questions within word limit of
700-1000 each 12x3 = 35

1. Define Management Explain the natyre and
functions of management.

2. State what advantages does planning confer to
the organization ? What is planning premises 7
Discuss types of plane.

3. What do you mean by organization structure 7
Explain the term line and staff authority’. What
are the causes of line and staff conflict,

QF - 56/4 ( Turn over )
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2017

Full Marks - 70
Time -As in the Programme
Answer qustions as per General Instruction.

GENERAL INSTRUCTION

Answer any THREE question from Section - A
(12x3=36), Word Limit - 700-1000
Answer any THREE questions from Section - B
(8x3=24), Word Limit - 500
Answer any TWO guestion from Section-C

(5x2=10), Word Limit - 300.

Section—

Answer any THREE ! [12x3=36 -

1.  Discuss the scope of population study in India.

2 Evaluate optimum theory of population growth.
[ Cont...
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DDCE-IlI-S - CB¢§ - MSW -
(BUS)-R&B

2017

FullMarks - 70

Time - As in the Programme
Answer qustions as per General Instruction.

GENERAL INSTRUCTION

Answer any THREE question from Section - A
(12x3=36), Word Limit - 700-1000
Answer any THREE questions from Section - B
(8x3=24), Word Limit - 500
Answer any TWO guestion from Section - C
(5x2=10), Word Limit - 300.

Section—A
Answer any THREE : [12x3=36

1.  Whatis Urbanization 7 Discuss the distinctive
features of urban community in India.

[ Cont...
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DDCE -1l -S - CBCS - mgﬂ".

CD)-R&B
2017
Full Marks - 70
Time - As in the Programme

Answer qustions as per General Instruction.
GENERAL INSTRUCTION

Answer any THREE question from Section - A
(12x3=36), Word Limit - 700-1000

Answer any THREE questions from Section - B
(8x3=24), Word Limit - 500

Answer any TWO guestion from Section - C
(5x2=10), Word Limit - 300.

Section—A
answer any THREE [12x3=36

Explicate the histarical review of urban
development in India before independence.

Discuss the features of rural economy.
[ Cont...
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DDCE-IIS-CBCS —
MSW [CSW)R&B

2017

Time : As in Programme
Full Marks ; 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section — A

Answer any three questions within word limit of
700-1000 each : 12x3 = 36

1. Define Juvenile Delinquency. Describe its

causes.

2. Describe the important features of Juvenile

Justice Act in India.

3. Define Crime. Describe the various theories of

crime.

QF - 55/4 ( Turn over )
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(2)

Explain how the Second World War influence

S

India’s freedom struggle.
SECTION-B
Answer any three, 8x3=24

6. Discussthefaﬂmfmtimgmwthnfﬂa&nml
Consciousness in later part in 19th Century.

7. Examine the Role of B.R. Ambedkar in drafting
the Indian constitution.

8. Briefly discuss the factors for the rise of Left

;- Movement in India.

9. Discuss the causes and impact of Civil
Disobedience Movement in India's freedom
struggle.

10. Discuss how the political map of the world was
redrawn after second world war.

SECTION-C
Answer any two. 3%2=10

Write short notes on :

11.  Subhas Chandra Bose,

12.  Lal-Bal-Pal.

13.  Hindu Mahasabha,

14.  Partition of India.

DDCE-TII-

S-CBCS-M.A-Eco/Edn/Eng/Hn/PolSc/
Pub.Adm/Soc/MSW/Hist-(Freedom Strupgale/
Gr-C-NM in lndia}lﬂﬂ:ﬂ%l:



DDCE-IIS-CBCS-
MA — Soc/
MSW (HDCMI)R & B

2017

Time : As in Programme
Full Marks : 70

The figures in the right-hand margin indicale marks.

Answer from all the Sections as directed.

Section - A

Answer any three questions within 700-1000
words each. 12x3 = 36

1 Discuss Buddha's humanitarian synthesis of

mind and matter.
5 Write an essay on “American Revolution, 1776"

3. Explicate Jotiba Phule’s Ideology and
programmes for weaker sections’ emancipation

and empowerment.

QF — 30/4 { Turn over )
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DDCE-lIS-CBCS —
MSW(IS)R& B

2017

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section—-A

Answer any three questions within word limit of
700-1000 each - 12%3 = 36

1. Define Culture. Point out the characteristics of
Indian Culture.,

2. Explain, in detail, the major agencies of social
control,

3. Define Westernization. Analy:se the impact of
western culture on Indian Society.

4. Examine the causes, consequences and
remedial measures for Begga ry.

QF — 58/4 { Tum over )
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DDCE-MIS-CBCS —
MSW (LW)R&B

2017
Time : As in Programme
Full Marks : 70
mmmmmmmmm
Answer from all the Sections as directed.
Section —A
Mmmmmﬁmﬁmmwdﬁnitﬁ
700-1000 each : 12%3 = 36

1. Define Unorganised Sector. Discuss the
important recommendations of lind National
Commision on unorganised labour in india.

2. Discuss the statutory welfare measures
prescribed under Factory Act, 1948.

3. What do you mean by accident ? Discuss the
principles and steps in any accident prevention
programme.

QF —59/4 ( Tum aover)
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10.

11.
12.
13.
14.

(2)

What are the different leaderships styles? Which
one would you opt for to lead your followers?

SECTION-B

Answer any three. 8x3=24
Discuss the nature and scope of organisational
behaviour. - ;
Explain the different dimensions of
organisational culture,
'‘Coordination is the essence of management’
Discuss. ;

Narrate the ‘process of Total Quality
management. :

Illustrate Fiedler's contingency theory of
leadership.

SECTION-C
Answer any two. 2x2=10

How can resistance to change be overcome?
Describe the four functions of communication.
What is SWOT analysis?

Explain the different life positions in
Transactional Analysis.

DDCE-111-§-CBCS-M. A-Eco/Edn/Pol Se/Soc/MSW-(0B) R&B(30)



{DSI-EQE

2017

Full Marks - 79
Time - As in the Programme
Answer qustions as per Genera/ Instruction.

GENERAL INSTRUCTION

Answer any THREE question from Section - A
(12x3=36), Word Limit - 700-1000
Answer any THREE questions from Section . B
(8x3=24), Word Limit - 500
Answer any TWo Question from Section - C
(5%2=10), Worg Limit - 300,

Section - A
Answer any THREE : [12x3=36
Critically analyse the ethnic com

Position of
Qdishan Society.

[ Cont...
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‘DDCE-lIS-CBCS-MA —
P. Sc./Pub Adm / MSW
(S&P.)R&B

2017
- Time : As in Programme
Full Marks - 70
The figures in the night-hand margin indicate marks.
Answer from all the Sections as directed.
Section-A p
" Answer any three questions within 760-1000
words each. 12x3 =36

1. "Diversities are standing on the way of National
infeqration* Exsmi

2 Examine Social stratification in india with special
reference fo Casie and Class.

3. Discuss the Reservation Policy in addressing
Social Justice in India.

QF -20/4 : ( Tum over)
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